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ENGLISH VERSION

Instruction : Attempt any three questions out of four.

The following information is extracted from the record
of Good Luck Company Ltd. for the month of January 2020.
Number of employees at the

beginning of the month s 9D0)

Number of employees at

the end of the month .......o.....coi . e 1,050
Number of employees resigned ...........ocoooovivoiiiiiiii i, 10
Number of employees discharged ..........c.ococooovveviiiii 30

Number of employees replaced
N the vacancies .......ooooeiieiieeee oo 20
Number of employees appointed

due to expansion scheme .........c.ccocoevvvvveeeeveeeee . 120

Calculate the labour turnover rate and equivalent

annual rate as per following methods :

(1)  Separation Method

(2)  Replacement Method

(3)  Flux Method.

OR

(A) There were 1,194 employees in a factory on
1%% June, 2020. During the month 48 employees left
and 60 employees were engaged of which 48 were
employed due to expansion scheme. The number of
employees on 30th June, 2020 were 1,206. Calculate the

Labour Turnover Rate under Replacement Method and
Flux Method.

(B) Write a short note : Rowan Bonus Plan.
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2 In a factory there are three production departments A, B, 14

and C and two service departments D and E. The details

of the expenses during march, 2020 are as under :

Indirect wages Rs. 3.000 | Insurance Rs. 1,500
Canteen expenses Rs. 4.500 | Lighting expenses Rs. 2,000
Rent and rates Rs. 3.800| Contribution to ESI Rs. 1,000
Depreciation Rs. 12,000 | Power expenses Rs. 22,500
Other Information :
Particulars A B C D E
Lighting Points 6 4 4 3 3
Direct Wages (Rs.) 6,000 5,000 4,000 3.000 | 2,000
Cost of Machine (Rs.) 72,000 | 48,000 | 36,000 | 12,000 12,000
Horse Power (k.w.) 6 6 3 - -
Space Occupied (sq.ft.) 600 400 500 200 200
Number of Workers 5 6 4 2 1
The benefits of service department D and E derived by the
other departments in the following proportion :

Particulars A B C D E
Department D | 40% 30% 20% - 10%
Department E | 30% 40% 30% - -

Prepare the statement showing :
(1) Distribution of overheads to various departments And
(2) Distribution of expenses of service departments to
production departments.
OR
2 (A) Write a note on: Machine Hour Rate. 7
(B) In Rainbow Mfg. Company, there are five similar 7
machines. Details are as under :
(1) Cost value of each machine is Rs. 50,000.
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Useful life 9 years and scrape value at the end

of useful life is Rs. 5.000 for each machine.

works for 10

months in a

vear,

and

machine hours for each month is 500 hours for

(2)
(3) Machine
each.
(4)
month.
(5)
machine.
(6)

Annual Rent of the factory is Rs. 60,000,

Calculate Machine Hour Rate.

Power expenses bill of the factory is Rs. 1.000 per

Monthly insurance premium is Rs. 500 for each

3  M/s. Gaurinandan Company manufactured and sold 14
500 color TV in the vear 2020. The Summarised Trading
and Profit-Loss Account for the vear 2020 is as under :
Particulars Amt. | Particulars Amt,
(Rs.) (Rs.)

To Cost of materials
To Direct wages
To Manufacturing exps.

To Gross Profit

3,20,000
4,80,000
2,00,000

6,00,000

By Sales

16,00,000

16,00,000 16,00,000
To Staff salaries 2,40,000 | By Gross Profit 6,00,000
To Rent, Rates & Insurance 40,000
To General expenses 80,000

To Selling expenses

1,20,000

To Net Profit 1.20.000
6,00,000 6,00,000
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For the year 2021, it is estimated that :

(1) The output and sales will be 2,000 color TV.

(2) Price of materials will rise by 25%.

(3) Wages rates will rise by 10%.

(4) Manufacturing expenses will increase in proportion to
the combined cost of materials and wages.

(5) Selling expenses per unit will increase by 25%.

(6) Other expenses will remain unaffected by the rise of
output.

Prepare statement showing the price at which color TV to

be manufactured in 2021 should be marketed so as to show

a profit of 20% on selling price.

OR
(A) Give the per forma of cost sheet. T
(B) Calculate profit from the following information : 7
Materials. .o Rs. 3,00,000
LaDOUT wvieeeeiiiiineereeriraeeenasans Rs. 6.00,000
Total Sales .....cocoriniicinns Rs. 21,60,000

Factory overheads are 40% of factory cost and

administrative expenses are 20% of cost of production.

Describe the different methods of costing. 14

OR
(A) Write a note on 'ABC' classification of stores. 7
(B) Types of materials explain in brief. 7
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